LES- - Aurg <ibley (10) LESH-@ - Speardey
OHOILD OETESETSS FiTen e |
Part-B — General Studies & Part-C — Aptitude and
Mental Ability

flerméadr : 101-200
Questions :101-200

Qwrss wHIQuerTgEeT : 150
Total Marks : 150

101. Match the following :
. (@) Financial Assistance to 1.
Dependent children
(b) Maintenance of Orphan 2.
and Destitute Girls

(c) Foster Care Services 3.
Scheme -

(d) State After-Care Home 4.
for Boys '
@ ® (@ @

A 2 3 1 4

B 4 -2 3 1

N/, gl 4 2 1

D) 2 4 1 3

(E) Answer not known
SpararLeipenn sflwrs QuUTKHSSs.

(2) sripdEsED GRpmssEse 1.
Hdugell - |
(b)

(c)

Slpflsener LgTLASSH
eueTiL) whmitb ugmofiy 3.
Geaneusar Sl L 1b '

(d) fpeutrs@pssnar upmofluy 4.
Qoo
@ ® @© @

A 2 3 ;! 4

B) 4 2 3 1
©C 3 4 2 1
D) 2 4 1 3
(E) eleo Qsfwefdena

45

USTOUDHD WHDID STTENG 2.

Between the age group

of 18 and 21 years

Providing destitute,

orphan and unattached children
Children below the age of

16 years _-
Children between the age of
6 and 16 years

18 whmib 21 cuwigises
@eL Ll L auigeT

<%STeuHD, &6l LI L Hoib
satlurear &nieuTs@Ehd@ cULPRIEGHS®
16 auwngis@ o il L Apeuisar

6 whmib 16 euuigide oL Ll
fmeuraer

CCSEIVGT/2025
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102. As per the Tamilnadu Economic Survey of 2024-2025. Arrange the

following in the ascending order based on the productivity.

(1) Paddy productivity

(2) Maize productivity

(3) Oil seeds, Groundnut and Sugarcane productivity

)
® @
© @
® @)

()
()

1

(1)

3)
)
3)
@)

(E) Answer not known

2024-2025 <> e w sOPHBETEH Qumrpermg Ty @ eulsmsuler L,

sigen 2 pusdsdpemerns Qurnss  GemeumeuaTaupep  gmeuflasufd
auflenFiLiHEgmisar. ' !

(1)  Qpe 2 pusHsSper

(2) wasrECemerd 2 HuGHSSDEn

() eanQemis elggissdr, Hoss e LHHID SHDL aﬂ)ugﬁlggﬂ‘mé‘m

@ @
B) @)
©) @
@ @

2
@)

@)

(1)

3)
(1)
3)
(2)

(E) eerL Qsflweldema

CCSEIVGT/2025
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103. Find out the Incorrect statement(s) about the Tamilnadu Health
System Reform Program (TNHSRP)

This program was supported by World Bank.

(@)
(i) This program is sponsored by the Central and ' State
Government in the ratio of 60 : 40.
(iii) It is implemented by the Department of Health and Family
Welfare of Tamilnadu on Program for Results basis.
(iv) This program aims to achieve the goal of SDG 9.
(A) () and (i) only (B) (i5) and () only
@ (i) and (iv) only (D) (i) only
(E) Answer not known

SOPHTEH &5n§ng a{amnur_[ rdmsss S (TNHSRP) umrf)]u_J Saupme

amplener sarrds.

Q)
(i)
| (iii)
(iv)

(A)
©)

@35 5D 2 8 eumid 2576| SeflsEHanpg).

@ps HLb wsHu Lnrrﬁso'..-gr_l;rscrrrﬁjaggrrdi 60 : 40 ererp Gﬂleﬂ;sgﬁéu
vwerum® Huysed aupristiu@aDng.

b5 vue SiqlueLld ooy HilsHoa  sOPEM g6
FEMHTID WHYID GHLU posgimpuTd eudu@ssiLOEDS.

@b Hb SDG 9 g Qessts s _ams Cprssons Qsrer@edrers.

@) wpgo (i) wr Gid . (B) (i) wppd (iii) wr Gid

(11) whmibd (iv) wi_Hibd (D) (iii) wr @

(E) AL Qs flwelerena

47 - CCSEIVGT/2025
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104. Assertion [A] : In 1892, Tremenheere report was accepted by the

Government for increasing the income of the
Government, to allot the poramboke land to
down trodden community. |

Reason [R] : In Chengalpet, the Panchamer Schools were run

by the Philanthropic individuals in Panchami
Land for promoting Education for downtrodden
' community people.

M [A] is true [R] is false

(B)

(©)
(D)

(B)

Both [A] and [R] are true and [R] is the correct explanatlon
of [A]

[A] is false [R] is true

Both [A] and [R] are true but [R] is not the correct explanation
of [A] a

Answer not known

sapm [A] D orE, ypbGurs@ Heomsmer STRSSLILLL FupssshE

aprGausar  arflors orfler B e@eumulaner
Qumsdl Qaerereromd  eaardlp 1892—b  yameLw
Hr@weradit sifsamsiienar gHm&CsTem g).

sryewid [R) ;. walls Cpullés puTsET STPSSLILLL  Feps ésaflen

(@A)
(B)

©

D)

®)

soellllenar Cubupsgib QurmL( LEHFLT Letalsamer
QarmsdLLl1gd 2 6ot LiEhell Hlomsafle L& eubsen.
[A] &fl [R] seum
[A] wpmb [R] ef Gmgum [R] <parg [Al uﬁl@wtnl_u_l sflwner eflerdstd
2GED
[A] saug [R] o
[A] wpgid [R] &l gyemed [R] peng [A] WeyerLw sflwrer eflerésid

<D 6DED

alenL GQsfwelldane

CCSEIVGT/2025 48 | | T3



105. Identify the incorrectly paired matches :

(1) Lokpal and Lokayuktas Act — January 16th, 2014
_ came into force

(2) Tamil declared as Classical Language — Oct 10, 2004

(3) Election Commission of India - = Article 324
' (4) National Integration Council in India — 1960

@) (1)and W8S (2) and (4)

(€) (3) and (4) (D) (4) and (1)

" (E) Answer not known

ﬁlehaj@ajm@_l,mg‘ﬂso seuPTS Qun@gguui_@mmmmmm SerLMs.

(1) Garsured womb Cans DPUEST FLLLD -  gareufl 16, 2014

| BL(PdDEE aubs STeld

(2) 0P QebQurduns ifleflldsiu L g —  @sCLruf 10, 2004
(3) @pdwus Csise .%sﬁ)mfu_l'm . — sl 09fe) 324

4) @pdu CsAw @@rmé]msum;lq geeswub  — 1960

@A) (1) wpmd (3) (B) (2) wppo (4)

©€)  3) wppib (4) (D) (4) wpgid (1)

(E) oo Gsfueldama

106. The purpose of “Surya Ghar Muft Bijli Yojana.” is

- Installing roof top solar
“(B) Providing Houses to the poor
(C) Insurance to old age people
(D) Financing to small industries
(E) Answer not known |

‘ST & @peeil 19g8l6l Guimgen” ereimp &L gdler Gpna;a;mrreurg

(A) el Pssmarsaion gfiu gafl Warsmb Hnejes
B) gopserssrar SGadr UGS

©) awg apGsrmsstar smise QULPTEIG S

D) Afu AgrfipsremasErss B aphiEaus

(E) oflen G]grﬂu_laﬁ]ebmm

B 49 T CCSEIVGT/2025
[Turn over



107. Assertion [A]

Reason [R]

Zamindari system was created by the East India
Company when in 1793. Lord Cornwallis entered

into permanent settlement.

Under the settlement, the landlords were

declared full properties large areas of land.

(A) [A] is true, [R] is false

(B) [A] 1s false, [R] is true

(C) Both [A] and [R] are false

\(D)" Both [A] and [R] are true, but [R] is the correct explaﬁation

of [A]

(E) Answer nof known

spm [A]

smyenrd [R] -

1793 & anyereumeden I_CI]UL|GQGBT A&dlbdu  cuenflas
&pelen <" SluQeir &1 sy LBetrgmil pen

Camer(HeurLliul L g|.

@Lb@émmuﬁlsmrrsb pbergmiser W Bleog e

2 fewwreriseas stisamar o|dleilss)s0lsmer_ani.

@) [A] s, [R] seum
® [Al seup, [R] &

(©  [A] wpp [R] @renGo sap

(D) [A] wpmd [R] @raer@id e, <pearmed [R], [A] e sflwrar eflerssid
(E) ol Qsflwelerena |

CCSEIVGT/2025
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108. Assertion [A] : Goods and Services Tax in India is a
| comprehensive, multistage, destination-based tax

that is lévied on every value addition.
Reason [R] : The moto is ‘One Tax, One Market, One Nation’.
(A) [A]s true, but [R] is false

v(,B“ Both [A] and [R] are true; and [R] is the correct explanation
of [A] '

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A] is correct
(E) Answer not known
gapm [A] D @bdureiler srs@ wHmd Cemeu euflwrarg elfeunar, |

- ue ugflewseid @QsE SiglueLuld  eeaGeurm
s sl gar Curg 1Hssl LRSS

smamd [R]  : @ser Cprssp @Gy aifl, G shes, @GF BIE” G,
(@A) [A] s, myame [R] goup |
(B) [A] wpgd [R] @ren@o &fl, wppw [R] ererug [A] elpsrar sflwmer
flarésid @b
(©) [Al soup, [R] of

D) [A] Ln,rj)QJLb [R] @ran@id &f, <yammed [R] ererug [A] efpsrar sflwner
eflargsd e [A] erarug &l
(E) oo Qzsfwefdena

. & S 51 CCSEIVGT/2025
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109. Arrange the following Finance Ministers of Tamil Nadu according to
the Budget Year (Chronological Order) |

1.  Mr. Paneerselvam
2. Dr. Nedunchezhiyan

3. | Mr. Palanivel Thiagarajan
4. Mr. Thangam Thennarasu
A 1 2 3 4
B 4 3 2 1

& 2 1 3 4
@ 1 4 2 3
(E) Answer.not known

Spssan sOpETH HH Aewisismer euiseflar UL Gl T
SlgluenL wrs Qararh sreeuflasliug auflaa i@ sss.

1. & veraliit Qgéeutd
2. LsLir. QpOErQsfluer
3.  Am. upaiGeud Huirayremer

4. Sm. RS Qg enerya

A 1 2 3 4
@ 4 3 .2 1
©C 2 1 3 4

-M 1 4 2 3
(E) oL Qsflucioma

CCSEIVGT/2025 B2 - "3 S .



110. Assertion [A] : The plan period 1966 — 69 were called as “Annual
plans or plan holiday”.

Reason [R] : Because of the two major conflicts with China and

Pakistan.

(A) [A] is true, [R] is false

(B) Both [A] and [R] are true, but [R] is not a correct explanation
of [A]

\@/ Both [A] and [R] are true, but [R] is the correct explanation
of [A]
(D) [A] is false, [R] is true

(E) Answer not kpown

apm [A] 1 1966 — 69 A L& srab “eards HLb sdog S
P pennéd sreld” eream amgpés.asl'Ju@élg)g.
smyeurd [R] . gQanefley Earm wmHmID urélevgreiar ghurL. @re(
' - Quflu Curgeaser. '
(&) [A] oA, [R] soupy | _
B) [A]l-yb [R]-v &fl, sparmed [R], [A] efparer sflurar eferssode
(O [Al-yp [R]-b &f, <ame [R] eearug [A] psrar sfwurer |

edlerdasLn mGLD

D) (Al saugs, [R] &
(E) e&ewr Qsfwelerane

10 o 53 - CCSEIVGT/2025
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111. Statement: Thiruvalluvar has captured certain features like pridé
and administration of the Three Great Kings
(Moovendhar) in his couplets.

Reason : Thiruvalluvar wanted to portray the administrative
skills of Kings.
(A) Both Statement and Reason are correct
(B) Reason is incorrect but Statement is correct
(C) Both Statement and Reason are incorrect
\_,GBf Statement is incorrect but Reason is correct
" (E) Answer not known
gapml sllpssded aurpps apCapsisefear QUmen < HF SHobd
updl @m fo smsgHsEsmer LLHGWL JHmeudt@neum g
@pLurssefled FhHgiemari.
SITERTLD werariseafier A Hpd  updw 5@5@]5&@m$
gap CouaT(Hd erand &H(mHlermir.
A) spm streTd @rar@n &
(B) smewnd geup <yeamme spmy &M
©) sax,rj)r:m a;rrljsmL'p @rerHLb g,eugi
D) spm sy pammd sryerd &
(E) eenr QsAweloene

112. Give the chapter No. _in Thirukkural that talks about..
Ascetic Virtues. ' :
A) 18 WBY 13
C) 12 (D) 16

(E) Answer not known

Smé@mefler emwpbgierer gimeunaeiiwied a‘é,\asm;rg'é,]sh. cramenend &MHUA[H\E.
@ 18 B) 13 L

(C) 12 | (D) 16

(E) e Qsfweloene ’
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113. Who is the author of “Valluvarum Kuralum”?
(A) Tamilannal |
M Ki.Aa.Pe. Vishwanatham
(C) Ra.Pi. Sethupillai
(D) Thiru.Vi. Kalyanasuﬁdaram
(E) Answer not known

“mm@m@m.@m@m” eramp Hredler < dflwir
(A) spemeanred .
(B) &.<9.0u. sauprsid
(C) gm.Q. Cegiuerenar
(D) A sSlwmesnr Jrlr_'r,g,uéarrr'r
(E) o&en Qzflwelidena

114. Who was the first to draw the portrait of Thiruvalluvar?
(A) Venkata Krishna Pandithar
\,QB)/ Venugopala Sharma
- (C) Saminatha Sharma
(D) Vannacharaba Dheetchithar |
(E) Answer not known

S meueTEneu 2 (FeusSenan (P e W5O® @aALITE auEThseu
(A) CeumsL &(meipemrLicmysiT
| (B) CGeougmCGamunme sirom
(C) emfprg siom
(D) woawengsyu U Az
(E) e Qs fwelldame

- & I o 55 -~ CCSEIVGT/2025
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115. Choose the right matches.

1
@
)
@
@)

B

©
(D)

(E)-

New In'dia -
Thesapakthan —
Nava Sakthi =

The Hindu_ —

(1) and (2) are corfect

(2) and (3) are correct

- (3)'and (4) are correct

(1) and (4) are correct

Answer not known

sflwner @enanrenws sarL_Hls.

M
@
3)
@

@

®
©
(D)
(B)

fu @pfur -
G‘E_r,a:uéigssiﬂ R —_
poish -
8 @5@1. | -
(1) wppis (2) o
(2) wpgid (3) &
(3) o> (4) of
(1) wpgid (4) &

ellenL Gsfweldene

CCSEIVGT/2025

" Bharathi

V.V. Subramanian
Thiru. V. Kalyanas’undarﬁm

G. Subramaniam

LHI‘I]'QU.Iﬁ'ﬁ
au.CGau. s&UiQywaeiwer
gm.af. sellwirarmabsrid

G. s Qywenfluin

56



| ~116. Which of the following statements are true about the Theosophical

Movement?

()

i)
(111) |
@A)

N

(E)

The Theosophical society was founded by Madam Blavatsky
and Col. H.S. Olcott in New York.

In 1888 Mrs. Annie Besant joined the society in India.
The heallqusrters of the soeietyin Advar:

Gand@ B @ and (i)

() and (iii) (D) B only

Answer not known

Siybo@sTar FeL LpHiw sfluner aursdukiseer Cairey Q&wis.

@)

GoLib  Garmeut_evd wpmis  srared  H.S. edst < &Cuimymed

- AyboeEsrer seou Bluwrisdld CampmieNssiii L g.

(1)
| (111)
)
(©)
(B)

1888-& @pdwureie ojeral@uFen @bewwri GHd @Qemeahs.

@ ser saamwwshd CFaramar HemLwrled 2 drearg).

() wpgub (i) (B) (ii) wppuo (i)

@) o (iii) | D) i) ween

aflenL GgMwailcvene

57 CCSEIVGT/2025
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117. Assertion [A] : E.V.R. Periyar started the Self-Respect Movement

1n 1925.

Reason [R] ~ : New India was the official Newspaper of the

Self-Respect Movement.

) [A] is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]

() [A] is false, [R]is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct ' |

(E) Answer not known

gapm [A] : 1925—@6'1) . Geu.yr Quflwimi &u.tmfﬂurrang Pussinss

' Qgr_rdermi. |
smgemtd [R] @ swoflurems @usssdear  odemryies  Qeudssrar
By @pSwur @d.

(A) [A] efl gyamed [R] seum

B) [A] wpmo [R] @ran@ind &, wppw [R] ererus [A] Geye w sfiurer
eflerésLb - '

(O [Al s, [R] &

D) [A] wppp [R] @rem@un sfl, e [R] ererug [A] epeniw
sflwrer eflerésode erarug & |

(E)  ofer Qsfluedcrana

CCSEIVGT/2025 58 {3



118. Consider the following statements and_. Identify the wrong answers

(1) On 1st September 1798 Major Bannerman served an
ultimatum directing Kattabomman to see him at
Palayamkottai. ) '

(2) Kattabomman’s Fort 500 feet long and 300 feet broad was
constructed entirely of Mud.

(3 On September 16, 1799 Veera Pandiya Kattabomman was
tried before an assembly of Palayakkarars at Kayatar.

(4) On 1t June, 1799 Kattabomman, attended by 500 men,
proceeded to Sivagangai.

(4) (1) iswrong - B) (2)is 'wrong

J@f (1) and (3) are wrong =~ (D) (2) and (4) are wrong

(E)

Answer not known

EpsaL sapmismar shsHo Qaran® seuprar el aw sarLg.

1)

(2

)

(4)

@A)

- (©
(E)

1798 Qeuiiburr, 1 geﬁ@j Gmgr’r uneriGer gerenard &L GlLIMbLOGT
urenerwiiGer el ule shdls@ibuy Qnidl assfsms lBHelssmi.

s L Qumbwefar Gam e 500 <lg fergdlaun 300 <@g is@sHaid
Ppeugib aretlamed &L LIl iq(HHSE!-

1799 QeuLbui 16 oery urenGuer &L Qumbbaar SWSSTO)
aargflsHé uremeTLSETTISET SnqulMmHs Dieeuudd  eflaTyenemr
QEigmr.

1799 sgoer 1 cyemcm s L Qumbloer 500 D" &(@THL_6hT Aausiiens
Q&ermmir.

(1) wipw seum (B) (2) v Ew ﬁajg
(1) wpmio (3) w G seum) D) (2) wpmid (4) v D Feup
aflenL Qgfwelleene | _

59 CCSEIVGT/2025
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119. Which of the following statements are true?

(1) Congress boycotted the election which was held in 1923 in

Chennai.
(2)  Swaraj Party won 11 seai:s.
(3) dJustice Party fofmed Ministry in Chennai.
(4) Kamaraj led the Non-Co-operation moverhent in Chennai.
(A) (1), (4) are correct | (B) (1), (2) ére correct
I(.C) (1), (3) are correct ‘L \)33{ (1), (2), (3) are correct
(E) Answer not known
&rﬂurre;rr m&$é]mr515mm§3 Gsfey C&us.
(1) srmadge s 4, 1923513 Qeerevaruiled pLps Coigeme Lpssaisss.
(2) swyrsw E_'I'_Qlll- @Lusefled Qaipd Quboa.
(3) Q&sirrmmuﬁ]sb Béls & iewssTame DMLESS.
B s Sesmmedla papmpis giessBes wiif e
@A) 1), (@) shunarg B) (1), (2) sflunang '
©) @), 3) sflwrang . D) ), @), 3) eflwrang

(E) oo Qsflweferena
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120. Match the following :
(a) Karaikkal Ammaiyar
(b) Andal
(c) Aranganadha Mudaliyar

(d) Seraman Perumal Nayanar

@ G @ @

@ 2 3 1 4
® 3 1 2 4
e 4 3 2 1
™ 1 2 3 4

(E) | ‘Answer not known

| SpsaarT_aiperpls QUTmSEs
(a) Srrmqésasrrcb Sibepowimf
(b) yeorLmar
(c) &U@&Eﬁg-@gﬁﬂu_mﬁ. :
(d) Gaywmesr d_u@mrreﬁ ‘r_r)rrquoT-rrr'r

@ ® © @
%Y

2 3 1 4
(B) 3 1 2 4
) 4 3 .2 1
D) 1 2 3 4
(E) e&len Qasfwefcrenay
i | 61

Thiruvantadi

Kachhikalambagam

- Pavaippattu

Moothathiruppathigangal

- Smaupss

&&HEHLDLIGLD

ureneuium ()

eLpSSS (LI b 6T

CCSEIVGT/2025
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121. Which of the following statements are true about Sivakalai
excavation? :

(i) Sivakalai excavation located in North shore of river
- Thamiraparani.

(i) Tamil society lived in Sivakalai considered very ancient.

(111) Copper and gold goods are found.

“(A) () only (B) (1) and (iii) only

W€ () and (ii) only | (D) (iii) only
(E) Answer not known '

Spsar_  Hasmer  osprie] arsdusdd  QurmssLTET udlenen

Caiib0ls[H&saLb.
() Houseer SEprie)  gmilyuyen <y hblen ULEGE  soruie
DI 6TETE.
(1) Heusaererr uHe emphs sOpE sepsd  IBslLP@LLTETSTES
SBSULGE DG
(iii) Qaby wHyIbd srssHeorar AQUrEHETsHT @kiE HoLss110UHDS.
(A) @) wrEb e (B) () wpmd (iii) &M
(C) @) womib (ii) &l (D) (iii) wr.@w &

(E) &en Qgsfweldena

122. What is the crucial role played by noncoding RNA’s?
(A) encode for proteins (B) replications
\V€J  gene regulation (D) carbohydrate synthesis
(E) Answer not known
@Muirg RNA (NCRNA) créiren WsHUL LkiE udsdpg ? .

(A) qqg,‘&,,ef,]ﬁ)a;rrso'r GOWTéEsLd (B) Qpd |
(C) wruay s EUUTE (D). smiGurenan Gy Qg
(E) el Qsfwelerenaw

CCSEIVGT/2025 62 o £



123. Choose the right matches among the following :

(1) Five Kingdom System ~  — - R.H. Whittaker

(2) Six Kingdom System ~ — Carl Woese, et al

(3) Four Kingdom System —  Carl Linnaeus

(4) Three Kingdom System - —  Ernst Haeckel

(A) (1) only correct WBY (1), (2) and (4) are correct
(C) (1) and (2) are correct (D) (1), (2) and (3) are correct

(E) Answer not known

sflurer @eeamerws sarLHs :

(1) miges a@aiut® —  R.H. i LmsQai

(2) @pes aumstiur@ —  &ried Geuuqd, w.u.

(3) prenEes s LT = ened eenGarwev

(4) epameos eumsiuTh —  @fiCaevl QansGae

(A) (1) wr@Ewb M B) 1), (2) wpmbd (4) eflwurearena
©) Q) wvpow (2) sNurareeu . D) 1), (2) whmw (3) sNwrerereu

(E) ofeni Glgrﬂtu'sﬂlsbweu'

124. 0.10 M of weak acid is found to be dlssoc1ated to the extent of 1.20%
at 25°C. Its dlssomatlon constant is

(A) 1.44x10° (B) 1.44 x 10-4

O 1.44x 107 (D) 1.44 x 10*
(E) Answer not known

- 0.10M Qedlayew adlen GoDHS i@ S@TFD 25°C-é 1. 20% Yflens
SimLSlpgl erafled, Mena wrdledudler &l

(A) 1.44x10° ' (B) 1.44x10™*
(C) 1.44x10° (D) 1.44 x 10*
(E) ofev Qsfwelcrena

3 63 CCSEIVGT/2025
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125. The GSLV-F15 is launched on | By ISRO.
W january 29, 2025
(B) March .08, 2025
(C) .January 29, 2024 -
(D) March 08, '20_24 |
(E) .Answer not known
ISRO-auné GSLV-F15 yrs@sr geuiuic. Herid
(&)  gevaufl 29, 2025
(B) wnis 08, 2025
C) mara 29, 2024
(D) iz 08, 2024

(E) eenr Qsflweldena
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126. Which of the following is incorrectly matched?-

(1)

Trans Siberian Railway line -

(2) Trans Caspian Railway line -

3)

)

(E)

Canadian Pacific Railway line —

Trans-Continental Railway

line .

Answer not known

It connects Balt_ic Sea and
Pacific Ocean

It connects Central Asia
and Japan

It connects Atlantic Ocean '
and Indian Ocean

- It connects Buenos Aires
‘with Valparaiso .

(B) (2) only
D) (4) only

EseTLeupmIeT ergl saupTs QuTmHE 2 dreng ?

_(1)_

@)

.

4

@)
- (©
(®)

lq.ymreney eneLdiflwiehr

Beuyiurems

lﬁ.U’ffG&TdU &mev 19w ebr

Quuylurems
sCamgwer LGS

@muyuureas

g JTeTen &meiq GlarerL_6d

Qmuylures

(1) b @b
(3) wr_@w |
eflen Qgfwelcrena

65

Qg urs sLeeu|b, LSS
QupBISL_eub @amansdng

@z wiSHw %.eﬂw'rrmmum
guUTemaT b @ameanssns

Q8 i oremgs
GQuprsL e |b, @bl
QuBBRISLameu|b @laarrsdng

Qg Yyamed ojwiren
B&TS@SWLD eureLemrGeum
BSHTHMS L LD @mm‘résaﬂ,mg}

(B). (2) v
D) (4) v
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127. Who among the following was the Indian Prime Minister when the
42nd Amendment Act was passed?

(A) Jawaharlal Nehru (B) V.P. Singh
Indira Gandhi (D) Morarji Desai
(E) Answer not known

@Sl rFmwibenr 42-9 6018 ,é,]@g,g,& &L Qa;rrm@ eurliul L Gurg
@pdwureler Gyswrre @@;_r,gam Wi ?
A) geuaniered Crm B) &M.9. Ak

©) @pdranss (D) Qumyrirg) Caemil
(E)  &enr QsAweerenaw

128. Assertion [A] : The Pallavas constructed the Cave temples
without brick, wood, metal and sudhai. °

Reason [R] . The stones kept one upon another and not bound
with plaster is known as Katrahgal”

(A) '[A] true, but [R] false
(B) [A] false but [R] true

vee)’ Both [A] and [R] are true
(D) Both [A] and [R] are false

(E) Answer not known

sapm [Al . Udeeurser, Wb, &g, o Corsb, CQemsd Gurram).
&L_(HIomerLy QummeTsar @mﬁas GHDLUMTE
(Sa;rraﬁ’lsuamm 2 (HeuUTEEleiT.

smyewrd [R] D smEsHemer  @athlarGd QeTnTs é{@&él& FaimanTid
Gergamod sULLURD &SLLLASEEESS  sppeiser
eremmml GLiwii. T

(A) [A] sfl <yarmed [R] seug

(B)  [A] saug garmed [R] &

(©) [A] opp [R] @reGid of

(D)  [A] wppid [R] @ram@d seup

(B) eflen Gsfluieferena
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129. Choose the wfong pair :

(D) | .South Dravidan Language - Malayalam
(2) East Dravidan Language | —  Munda
(3) Central D_ravidan Language — | Telugu
(4) North Dravidan Language - | Kuruk
w o @ @
© O . D) @)

(E) Answer not known

seupnear @evamenwid &er(H g

(1) GsardrmeL Qumg - e
(2) Syses Q#&QS]L Qumf  — -@ssm_rr'
(3  pOsHmeAL Qompl - me@
(9 o fyma @mg I

@ o ® @
© @& D ©

(E) &l Qsfweléene

o 8 | E 67 CCSEIVGT/2025
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130. Assertion [A]_ : Rabindranath Tagore surrendered his knighthood.

Reason [R] : On 13t April 1919 Jalianwala Bagh Massacre

‘occurred in Amritsar.
(A) [A] True [R] False

(B Both [A] and [R] are true and [R] is the correct explanation
of [A] |

(C) [Alis False [R] is True |

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] | |

(E) Answer not known

smmm [A] D @ueiBsIns et sarg i lJLL..é’;GDgE; snpsmiT.
sryewrid [R] . 13 gured 1919 wufrgsrev pafe QTSI GUTETLITE

u@GEsTeme B LIGUDDG.
(A) [A] &f [R] seum
(B) [A] wpmis [R] &, [R] [A] Weyerrw sfwrer eflerésid

© (Al poups [R] of
(D) [A] wpmb [R] &M spermed [R], [A] Weyen wi ghtiiver. darksinde

(E) &l Qswelcrana
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 131. Assertion [A] :  The Indian National Congress First Conference

convened on 28t December 1885 in Bombay.

Reason [R] : Tamil Nadu region represented and attend

21 members.
(A) [A]1is true but [R] is false

(B) Both [A] and [R] are trﬁe and [R] is the correct expléna’tibn
of[A]

(C) [A] is false [R] is true
JD)’ Both [A] and [R] are true but [R] is not the correct explanation

of [A] is correct
(E) Answer not known
s [A] . @pfu Gedu  smdpfar s wipn®
1885 ysibuit 28 wyb G LBUMISD sniguig. |
sryenrid [R] 11 [12]..1, (M u@ﬁu&]s&@g@ 21 Gurr spbg QaraimL_en.
(A smpy [A] &l gyame smyeod [R] s.@@l

(B) smpp [A] wppo smyand [R] Grar@o sl wopd smpp [A] b

smyenrb [R] Eﬁ]mrrgm efleTsaELOmE@D
(©) smpp [A] seugy sryenmd [R] o

D) spm [A] wogid smyers [R] el e sryemd [R] smpy [A] epe

gflwmer a6 6 ererLigy &l

(E) e Qsfueldame

&2 69 CCSEIVGT/2025
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132. Which of the following statements are true about the Indus

Civilisation?

(i). In the 1920s Martimer Wheeler excavated the Harappan sites.

(1) The longest text has about twenty six signs.

(iii)) The term “Meluhha” in thé Prakrit inscriptions refers to the
Indus region.

(iir) The “Priest King” of steatite was discovered in Mohenjo-Daro.

&) @ and Gi).only

(B) " @) amd i) only

(C) (ii) and (iii) only 7

@ (ii) and (iv) only
- (E) Answer not known

fbg praflan @hHss Deareumb smppseied ame 2 @rawWLITaTME ?

(1) 1920safléd wrmingiof sSeoir anguur uGHselld Sispmieser pLsHearr.

1) s Serworarsrss asqr;g,uu@m adHsAsTLT 26 @GHUpsmens
Qamanr(Herarg). :

(i) Grrdms émJGlaJl_@asaﬂco Gm@_w;rr aemn Qsred A LGHmwLE
G DESR _ ' ;

(v)  evel @l sOOD S@OHS WEESH s QrsErEsTCrTeld
el (HEsUuL L g).

(A) @) wpgd (i) oo

B) (@) wpgio (1ii) wrEd

(C) (D) wpgid (ii1) wLED
D) (i) wppid (iv) G
(E)

cllenL Qg fuwelldvana
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133. The correct statements on the New Chief Elec_tion Commissioner of

India are:
(1) Gyanesh Kumar took charge as the 26th Chief Election
Commissioner of India on February 19th, 2025. '
(11) He is a Kerala cadre of the Indian Administrative Serv1ce in
the 1989 batch.
- (iii)) He has been responsible for handling various departments as
the secretary to the government of Kerala.
(A) (1) only
B (i) and (iii) only
(C) (1) and (ii) only
(D) (11) and (i11) only
(E) Answer not known

HEwsrs uselCupmiedter @BHL s@@®LLG CBg,rrg,a) <2, EOETILIGN L] IJJ_I)QS]U.I
&rﬂu_lrrasr FoDMISETTETG):

0)
(i1)
(111)
(@A)
(B)
©)

D)
(E)

@rGaray  @orr  GQogeufl 19, 2025 ey @‘[BQU_IWG]S]&T.
26"° seemns Cairger pamernuyrats QurmtiCLbp. |

et 1989 b e @pdHw < Ao uarflufer Cayer 19fay SR
penrir.

Gayer @irélenr Qewemenyms LOCan Swpsmans esWmEnd Gummitieny
e eudlggierermir.

(1) LIMCTH
(i) womd (i) wrEo
(i) whmid (ii) wr @D

(11) wpmbd (i) wr Eb

e Osfweldee

4| _ CCSEIVGT/2025
[Turn over



134. Match the following

(a)

(b).

©

(d)

(B)
©)
(D)
(E)

Name of the Act - Enacted year

Consumer Protection Rules 1. 1930
Drug Control Act | 2. 1987

The monopolies and ;
Restrictive Trade Practice Act 3. 1950

Goods and S_ervices Sales Act 4, 1969

@ ® © @

2. 8. 4 1
3 1 2 4
1 8 4 2
=i 8, A

Answer not known

Spasar_supenpls Qummss)s.

(@)
- ()
(0

@

@
®)

©

(D)
(E)

FlLgdler QUi " Quibpriui L eggew@
@aafr@mnfr ungismiLy efdser 1. 1930

DOEES SLEOUTG s . 2. 1987

ga&Gurs wHMID SHLILTL({H _

QUTSSS HaL(PEDEET &L L LD 3. 1950

Qurmlser ellpLeerd s 4. 1969

@ ® © @

2 3 4 1
3 - 1 » 2 4
1 3 - 2
= 1 2 3

allenL Qs Mwelldvana
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- 135. Consider the Assertion [A] and Reason [R] |

Assertion [A] : Supreme court judges are to be appointed by the
President. - '
Reason [R] : In the case of appointment of the Judges the

Law Minister of India shall always be consulted.

(A) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(B) Both [A] and [R] are true but [R] is not a correct explanation
of [A] o |

{0y [A] is true but [R] is false
(D) [A] is false but [R] is true

(E) Answer not known

- as(_n)"é,gj [A] wpmid sryemid [R] elenmenes smg)is.

amssl [Al 3 | Ggwures seooer o sspdoearn  FHudsmer  Hluwward
' Qewdpmir. _
smpand [R] @ ffuflaewer - fluward  Qeowynd  Qumg gL

S|EMFF® LD 5@5§nGmn£$5 Geuaim(®d.

A) [A] wppb [R] @rem@n & wpmid [R] ererug [A] ssrar sfwmar

aeTdasid

B) [A] LD;_T)QJL'D'[R] Quan@ sf améd [R] eerug [A] Wer sfwner
afleréad @dame '

(C) [A] sfl gyammed [R] soup)
D) [A] seun gemed [R] &f
(E) ofeni_ G]grﬂu;sﬂlsbmm

’ 0 | 73 . CCSEIVGT/2025
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136. Arrange in chronological order on Inter-State council
(1) Punchhi Commission
(2) Rajamannar Commission
(3) Sarkaria Commission
(4) Venkatachaliah Commission
@ (3), 4, @, 1)
B) @), 1), ), 3)
© @ @6, 0

B @, ®), @, O

(E) Answer not known

orfiensEssSa.GuLTE Gpésmer sroallasiy GQHEEUGSsD.
(1) yemsd Gl |
() @unguerani @

(3) acrrg';sasrrrﬂurr GW

(4) QeurisL Q&@@mmn &1

@A) (3,4, @,

B) (@), (1), @,

© @,®,0), O

- D) (@), 3, @), Q)
(E) oev QsfMwefcrensd
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137. Choose the right match :

(1 Retiremenj: age of the

Supreme Court Jﬁdge — - 60 years
(2) Minimum age for contestiﬁg |

for the President of India — . 35 years
(3) Minimum age for becoming

Rajya Sabha member — 30 years
(4) Minimum age for becoming |

Lok Sabha member — 21 years
(A) (1) and (3) are correct | (B) (1) and (2) are correct

\,(G‘T' (2) and (3) are correct (D) (3) and (4) are correct
(E) Answer not known
sflwrer @earews Csfley Ceuis
(1) oés fhoarp fHLE @uiey g — 60
(2) @vdu Guurs smeer Csrgald — 35
- fhuspstar GopHEULE auLg)

(3) Guema sgubdars goppsurs — 30

auwig)
(4) Sypees 2 prileryrs - 21

GDDHELLE e
A) (1) wppis (3) sAwraneneu B) (1) wppid (2) sAwuraae
©) (@) wpgd (3) sfurearaa - (D) (3) wppid (4) sfwraree
(E) &fev Qaflweferene

75

CCSEIVGT/2025
[Turn over



138. Arrange the following in chronological order :
1.  Bharat Rétna
2. - Padma Vibhuéhan .
3. Padma Sri

4, ~ Padma Bhushan

D) 31,42

(E) Answer not known

Gereu(mid eflmgimamer srwaflamsliLlyg eufleasiu@sss.

=

Rl T&eurm
2. UL flyager
3. | Lo
4 s yoeger
A 2,3,1,4
B 1,2,4,3
(). 4,8,2.1

D) 3,1,4,2
(E) efenL Ggflueidaa
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139. Match the foilowing :
Name of the States States in Part

(a) Himachal Pradesh A |

- (b) Rajasthan. |

(c) West Bengal

(d) The Andaman and
Nicobar Islands

il

D
B
C

@ ® © @
vy 4 3 1
(B) 2 4 1
© 3 1 2
D) 1 2 4
(E) Answer not known

L = W b

Qurmssis : :
- wrhlekiger QUi rhlemiser @ me@En LGS

A

(a) @uréser A5G0
(b) @yrggevgrar

(c) CuheE eurismerid

Ll

D

B
(d) <ipswrer whHmiD C
B&Camuir Soysar

@ ®m @© @
@) -4 3. -1
“® 2 4 1
© 3 1 2
® 1 2 4

(E) &lav QgRwefdana

LW = W

T} | 77 CCSEIVGT/2025
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140. P and Q can do a piece of work in 20 days and 40 days respectively..
They started the work together and Q left after some days of work
and P finished the remaining work in 8 days. After how many days

from the start did Q leave?

(A) 9days
(B) 10 days
\(2)’ 8 days
(D) 11 days

(E) Answer not known
P oppd Q @fCumt g Caumeewu wepCu 20 wpmib 40 .lr_BFrI'_EEGTﬂG'J
WyLuT Seuiser @maimd gemprs Gsipg Cauwemu Gsm bt fo
prisdr Gaume Gsug Gpg Q eeatuei Geame@Eprt. Bgeperer
GauamaeiL .P erarueau 8 prisefl®d wysfpmt erafléd G_g,rn_réjeﬂu_lﬁeﬁl@r_'r)gj
agsaman prisErs@l 9nE Q Caumaawu Al H& Qearpmi?

(A) 9 priser

(B) 10 BITL_&6T

(C) 8 priser

(D) 11 priser

(E) e&fen Qsflweicranay
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141. Divide Rs. 2,602 between A and B, so that the amount of A at the
end of 6 years is equal to the amount of B at the end of 8 years,
compound interest being at 4% per annum.

(A) Rs. 1,300, Rs. 1,252 " (B) Rs. 1,452, Rs. 1,150

(C) Rs. 1,302, Rs. 1,300 7 Rs. 1,352, Rs. 1,250

(E) Answer not known -

BT (HEE 4% sl Heuliguid 6 cumLmseler A @ deosEb Qsraswurargs
8 apLuselles B eér Qsransé@é swwrs @mégn aefld @ 2,602
A wpmid Ber urigaer

A) @ 1,300, 5. 1,252 B) @. 1,452, . 1,150

C) . 1,302, 5. 1,300 - (D) @m. 1,352, @ 1,250

(E) feor sfucdoma |

142. Find the simplé interest on Rs. 68,000 at 16%% per annum for

9 months. |

& Rs. 8,500 | (B) Rs. 8,000
(C) Rs. 9,400 (D) Rs. 9,100
(E)' Answer not known

| . 68,0005@ 9 wrshisEnss 16%% aumL ally alfgsHe gafl el
&ITEHTS. .
(A) . 8,500 | (B) e. 8,000
©) . 9,400 D) @ 9,100
(E) oo Qgfwefdana |

¥ 79 ' CCSEIVGT/2025
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143. Ifa:b=3:7and b:c=17: 6, then Find the ratio between c and a
A 1:2 - B) 3:6

© 6:7 D) 2:1

(E) Answer not known
a:b=3:7wpmbb:c=7:6 aafld c bHpb @ Qaupdlar fsb srams.

By 1id - B) 3:6
€ 6:7 D)y 2:1
(B) oL Qsflwueideme

- 144. The ratio of two numbers is 3 : 4 and H.C.F is 4. Their L.C.M. is

y(ﬁ{ 48 (B) 38
© 58 (D) 68
(E) Answer not known

Qreanh canseafler olflgd 3 : 4 Cogib <igar B5.Qumer wHuy 4 eafld
Simeusaier L5.8.10. :

(A) 48 . - (B) 38

(C) 58 ' (D) 68

(E) eenr QsRweldvene -

145. A number x is divisible by 13. When this number is divided by
16, 24, 32 it leaves a remainder 6 in each case. The least value of

- xis ;
W 390 - (B) 391
(C) 389 | ‘ D) 392

(E) Answer not known

RO @ X yarg 13 b auEgu@b. @bs e 16, 24 whpib 32 <y
uGs@L Gung @m@surr@ wepub B8 6 Hle sfpg erafler x er WasdHlw

L |
(A) 390 (B) 391
(C) 389 | : (D) .3-92

(E) efer Qsflwueicranen
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146. There are 80 students in a class. If 25% are absent on a particﬁlar

day. Find the number of students present in the class. .
@A) 10 B 60

(© 30 | ) 2

(E) Answer not known |

em awelie 80 wremeisdr o ererart. @wm GHUAL prefle 25% Guir
amasyilucddme aafld amos Ufips wrararsaear aaramismsamus

SeirL_Hlwieyib.
A 10 _ (B) 60

© s | @) 25
(E) oo Gzfweleverar '

147. The ratio of boys and girls in a class is 5 : 3. If 16% of boys and
8% of girls failed in an examination, then find the percentage of
passed students. _

W~ 87% : . (B) 13%
©) 84% D) 92%
(E) Answer not known |
@( su@ulﬁlgndmn LDTGRTGU T&GT l.Dﬁ)rcml.b wrewrellsefler g 5 : 3 IEb.

@@ Csieled 16% wraweuisesd, 8% wrawmeds@sd GCsréd Qupeldeme
aafle GCzrédl Qupm wrewrel — wrawmalsafler ssaissmss sTams.

A) 87% - (B) 13%
© 84% D) 92%
(E) &levr Qzfwelicrena

13 R 81 CCSEIVGT/2025

[Turn over



148. Find the sum of
1+3+5+---+ 55

A) 700 | \B) 784
(C) 555 (D) 550
(E) Answer not known .

Qgmifeyr an@gad) SIS,
1+8+5 +--+ 55 |
(A) 700 (B) 784

(C) 555 a (D) 550
(E) eenr Qsflwefdvana

149. The next term in the given sequence is
0, 2, 24, 252, 3120,

(A) 42450 - \(ﬁf 46650
(C) 38450 _ (D) 44650
(E) Answer not known :

&G G]e#n@é;&l;lul;@dTaT Qgmit euflengulieh eumd HSS 2 miLiy
0, 2, 24, 252, 3120, |
"~ (A) 42450 - (B) 46650

(C) 38450 (D) 44650
(E) &l Qsfweidena

150. In the series
' 6412287421538

how many pairs of successive numbers have a difference of 2 each?

- (A), One (B) T
\;e)f Three (D) Foits

(E) Answer not known

@Bs Csm_isd eramsafied

6412287421538 _

Qran® AsHunssams 2 mLw aansalld THSMaT @)MAMSET 2 areTen ?
(A)  qam = (B) @rawG

(©) ey : | (D) prene

(E) ofenr Qsfweldame '
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151. A dice is thrown four t1mes and its four dlfferent positions are given

152.

below

Find the number on the face opposite the face showing 2.

N7 - | (B) 5

€ 6 - (D) 3

(E) Answer not known

g usoL 4 weap 2w Luu@b Curg igar 4 CagulL foesdar &Gy
Gl&rr@as&uul_@mmm

2-61 it LGSHLONEG E)HEGLD TRTERTE SIS

(A) 4. ° - (B) 5
(C) 6 | . (D) 3
(E) o QgMwefdene

Find the missing term of the sequence :

7,12, 19, 24, 43, , 91
(A) 50 . (B) 45
48 : (D) 63

~ (E) Answer not known

Agmit euflengulieh 2 éirer AU eraiTenantd &Tans.

7,12, 19, 24, 43, , 91 |
(A) 50 | (B) 45
(C) 48 (D) 63

(E) eflenr Qsfweldaa

83 '- CCSEIVGT/2025
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153. Identify the correct answer.

Assertion [A]

Reason [R]

Space MAITRI is a collaborative space mission

between India and Australia.

India aims to lower the cost of access to space

through this mission.

(A) Both [A] and. [R] are correct and [R] is the correct explanation

for [A]

(B) Both [A] and [R] are correct, but [R] is not the correct
explanation for [A]
@) [A] is correct but [R] is wrong
(D) [A] is wrong but [R] is correct

(E) Answer not known

sflwimrer Gﬁlml_d)u_t Caih0s [H&HeLD.

sapm [A]

sryenrid [R]

@wGuay  MAITRI  eamug  @pHur  whpid
dCrellumelpE Qe wWorar sl @B darCeuefl
Sl ib. :

@5 Lsder  epo  AarQecfissrar  oigmisD
Qeaeilanar @bHwT Gonss cramandng.

A) [A] wops [R] sAGw, Goauw [R] adémg [A] psrar s

clleT&aELmE@Lh

(B) [A] vpmd [R] &f, syemmed [R] ererugy [A] Apsrer sflwurer eferssid

<3{eLeD

(C) [A] sAGuwW, <ame [R] e

(D) [A] pouy syemed [R] ol
(E) &l Qzfweldene

CCSEIVGT/2025
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154. Which of the following statemeht(s) is/are true about the
agricultural cultivation of 2021-2022 in Tamilnadu?

0
(i)
| (111)

A)
(©)
(E)

Mayiladuthurai District involved more Paddy cultivation in

Tamilnadu.

Perambalur District involved more Maize -cultivation in

Tamilnadu.

Kallakurichi involved more Sugarcane cultivation in

Tamilnadu.
(i) only (B) (i) and (iii) only
@) and (ii) only @) (i) and (iii) only

Answer not known

1Yl 66w (HeuETau i 6d 2021-2022_—&3 gamgd  sOPETTger  CeleTmamantn

sm@UKCur® QsrLiryeLw o @manLOWITE FaDMI(&H&ET) eTenc/ Wmeney ?

@)
(ii)
(iii)

(A)
©

vller@geepuls slppmnyCe dsworar urnd Opd amEuy

Qawtiu’ L g.

QupbLgrii®  sWlppm WG  dswrs  wastsGsrerd  ETELIY

Qi L g.

satars@NEfler  sllpprigCe  oFswrs smbY  sTEUG

Qewiul Lg).
(i) v Ew B) (i) wopid (iii) o G
(i) wpmib (ii) wr @b (D) (ii) wpgib (iii) wr G

' (B) efle Qsfusidame
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155. Identify the correct answer after understanding the Assertion and

the Reason. v
Assertion [A] - :. As per the Economic Survey of Tamilnadu
2024-2025 the Urban inflation in Tamilnadu is
coming down from 6% in 2019-2020 to 4.5% in
2024-2025. While rural inflation is static at 5.4%.
Reason [R] : It is mainly due to the Governments’ policy on the
Tamilnadu Public Distribution System and other
income support schemes like, Kalignar Mahalir
Urimai Thittam and hundred days employment
guarantee schemes.
(A) [A]is true [R] is false
Both [A] and [R] are true and [R] is the correct explanatlon of [A]
(C) [A]1s false [R] is true
- (D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] o .
(E) Answer not known

SOy LHpd sTraws®s petprs LMk Qsrawe Ger sflwurer aﬁ]ml_smu_l
CsibEE[H&sa L.

gapm [A] : gLﬂleppﬁLLq_shT 2024-2025 Qungrermsmy < iieiflsamsuden

Ly SUOPETger peiiyp uamrelssd 2019-2020 b
gamgd 6% Ompg 2024-2025 <yb yergd 4.5%
258 Gopha stariubhdng. 265 Crrsda Hymoriym
vewraigsd 5.4% eramp lflgsde Hlavowns o ereng:

smyed [R] : Qs wsfunrs SrEmssdamed wOURSSH Qupid

)
®)

©

D)
(E)

gLﬂIc.p‘IBI'I'G\ Qurg HCuUIEs b wHpD So®EsT
waafli 2 fenwd S L b wHmbd Hrm Brer Ceueneeumiiliy
o gflreurg S Cumery Gp - cupwrer  YHTeydH
Sl Lmgermed ghHuBE DG

[A] & [R] seugy

[A] wpmw [R] &M wpmp [R] ez [A] uﬂ@]@n.u_i sflwrer eferésib

<G

[A] sugi [R] &

[A] opmid [R] &M <yeammed [R] <pag [A] uSl@JGnM_UJ sflwrer efarésid

D

alenL QsNweldene
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156. Assertion [A] : The “Illam Thedi Kalvi’ scheme in Tamilnadu

aims to bridge learning gaps among school
students caused by the Covid-19 Pandemic.

Reason [R] : The scheme involves volunteers providing

remedial education to students at their hom'es.

W Both [A] élnd [R] are true and [R] is the correct explanation

- ®

of [A] .
Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(C) [A] is true but [R] is false
(D) [A] is_false but [R] is true
(E) Answer not known
gapm [A] : Geme-19 Qu@Ep@smppred uetefl  rawaisaiaL G
- FgHuU@BLD DD @ _Qeueflsamers G®DOLILINS
Cprsswonss Qsrear® sODET Id “@dan Csigs sdad”
| Sl QewdupBissiuGEHDG.
smed [R]  :  @bss QLL_gﬁd). SATQNTTEUNSET  LOTEwTEU T&6r 6br
dpseEnses Qeerm wrppeufsdr Qsrar.  sdeflaw
QUGS D TTEET.
A) [A] vpgid [R] @ran@ind e awenwn, wpmid [R] eremug [A] & Shitiver
eflaréaLd : -
(B) [A] wppd> [R] @ran®id o emann, e [R] aarug [A] &6 sflumen
cflergsdlerenay
(O [A] camew <ame [R] gauprang
D) [A] sauprang epemed [R] sflwirang
(E) oo Qsfweldena

87 CCSEIVGT/2025
[Turn over



157. Which of the following statement(s) is/are true about “The Mandal

Commission Report”?

(i) The commission used Three indicators i.e. Social, Educational

and Economic..

@) 1In social indicator there were five criteria and educational

indicators there were two criteria.

(iii) In economic indicator there were four criteria. Thus there were

11 criteria used in the Mandal Commission Report.
(A) () only _ : \,(B{ (1) and (iii) 0111).7
(C) () and (ii) only o (D) (ii) and (iii) only

(E) Answer not known

D66 (HeuaTeUHMIST LOGITL 6d &1l g6 SiPsmaCurh Qzriyeru gflumrer
S HMI(&SET) 6TG/Wrenal ?

(1) Qps weerwrag Fupsd, soel LHHID QUIGETTSTID e APETH)

G g smer LwaTLHSSH L aTerg.

(1) sps Ghsm e mbs e CsraseEnd wHHL so6l G gl
Qe iereCames@pld LweaTLHSSL Qubhmer. |

(111) Qurmerngry GhHaTiguled BremE ereCarose LWELUHSSLILLL 6.
<& Qurssnd 11 amm@esrré&m e e sllasar  sHsamsuded
vwetU(h&sLuL (heTarer. |

@) G) o Gw (B ) wppio (i) we G
©) (@) wpmgd (1) wrEL (D) (1) wHmb (iii) T

(E) eler Qzflwelderer
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~ 158. What was the cause for high inflation in India?
(A) High demand
Weaken rupee against the dollar
(C) Low production
(D) Low money supply
(E) Answer not known

@pdureier Lamaissd Sfs0TE QMHULSHSTET ST
A) <ifs Csmeu :

B) . Lremés afyrar mumi wdiy @aonay

C) @@para 2 HusH

(D) Gopeurer Lewr jefliiy

(E) ol Qsflweldene

159. Arrange poverty eradication schemes in chronological order.

1.  National Rural Livelihood Mission
2.  Rajiv Awas Yojana

3.  Bharat Nirman Yojana

4. National Food Security Scheme

A 1 2 4 3

B 3 1 4 2
3 2 1 4

D) 2 3 4 1
" (E) Answer not known

aupend @ity S hiseer st aflastiu®sd ewsis.
1. Gsélu earys eurpeungmy S L b '
2. prgdeu wyeume Cuimge

3. umpg Binorer Cuimgenm

4.  Gzéflu 2.awrey ungsTiILS S Lib

A 1 2 4 3
(B. 8 1.4 2
©C) 3 2 1 4
@ 2 3 4 1
(E) oo Qgfwefdena
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160 Which of the followmg is 1ncorrect1y palred‘?

(1) MFAL — Marginal Farmers and Agricultural Labourer
Development Agency

(2) DPAP — Drought Prone Area Programme
3) DDP _  District Development Programme
(49 HDA - Hills Development Agencies
(A (1)and (2)

(B) (1) and (3)

€)' (3)and (4)

® @and@
(E) Answer not known

Qurepsts gaop CoibEs058 Twgs.
(1) MFAL - g@néfeoo &fleusmd whpd eleustus sned G\gsrr@mrraﬂ
paCanppg S 1b

(2) DPAP - apréflure undssiu u@)’ﬁéﬁ&nm SLib
(8) DDP - wreuL eueriééls b
(4) HDA - peer U@ﬁe’mrreof wparGarpps S LLb

@A) Q) wppd (2)
B) (1) wppid (3)
©) (3 wpgi> (4)
D) (@) wpg (3)
(E) el Qsfueidana

CCSEIVGT/2025 90 10



161. Identify the incorrect Acronym :

()
@
®
@

(A)

(©)

(E)

TSC -~ To{:al Sanitation Campaign

NIC - Natioﬁél Information Centre

MIS — Managerhent Informafi;n System |

IMIS - Integrated ~ Management Infrastructure
System

(1), @), @) and (4) (B) (1), (2) and (3)

(1), ) and (4) ) (4) only

Answe; not known

SereumeuareudIET Seumner @epauTiiL 6rg) ?

)
@
3)
@
@)
(©)
(E)

TSC — W eLd pe smEEb BLeut &ans

NIC MY L GCasflu ssaud awwib

MIS —.  Guarareng ssed e

IMIS - @oRdoarhs waneﬂm@ 2 GT&L L anLoLiL @mm-
(1), (2), (3) wppid (4) - B @M, @ @D@m 3) |
D, @ .Lomgutb (4)- D) (4) wLEw

ellen QsNwelerena |

91 ' CCSEIVGT/2025
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162. Choosé the éorrect pair : |
1. Bombay plan | -
2. Gandhian plan —
3.  People’s plan -

4. Sarvodaya plan -

(A) 2 and 3 are correct

\{B)/ 1 and 4 are correct

(E) Answer not known

gflwmer @emmmg CsibOs® :

1. umbCGu b .=

2.  smpdug Hid R -

3. &ser HLib -
4. sfGeaurgug HLb —

A) 2 wpgb 3 &

©C) 1 opgid 4 s

(E) efen QsMweficrenew

CCSEIVGT/2025 92

1940

1945

1944

1950

(B) 1and 2 are correct

(D) 2 and 4 are correct

1940

1945

1944

1950

B) 1 wppnd 2 &

D) 2 ovpy 4 &f



163. Kokkokka Koompum Paruvaththu Matradhan
Kuththokka Seerththa Itaththu

As Heron with folded wing, so wait in waltlng hour; As Heron snaps
its prey, when fortune smiles, put forth your power - Denotes.

(1)
)
3)

@

(A)
B)

ey
(D)

(E)

To act like a Heron is incorrect.
You must wait till the Time Ripens.

This Kural appears in the Chapter titled “Therinthu
Thelithal”.

“Vaadiyirukkumaam Kokku” is the phrase best suited to this
Thirukkural. |

(1) - Right  (2) — Wrong (3) — Wrong (4) — Wrong
(1) - Wrong (2)—Right (3)—Right (4)— Wrong
(1) — Wrong - (2) —Right (3) — Wrong (4) — Right
(1) —Right (2) — Wrong (3)—Right (4)— Right
Answer not known

Q&r&0anEs gnibLib LSS WHDSE
G&&Cs1Es &ids ALgg) |
Q&@DL_Lmeller &m&g)

(1)
)
3)
(4)
(A)
(B)

©)
D)

(E)

Garseast Cumenm QewduBeus seump.
&TLD &snpHeugn@s srEdlmés Cauam@ib.
Qé@per Asfbgdseliss aagid adsmsded @b Quppierars.

a.tmq_uﬂ@es@mrrm QsréE eremp Qerd @s@nrurelhEl QuUTmEsLTaT
eT&&LD F(MHLD.

D-sfl  @-pap @) -pap (4 -sap

(1) —saup  (2) — & (8) — & (4) — saup
1) -pap  (2)-oh ) -pap (@) -sf
W-sf @-pap  @-ef (@ —s
aflen_ Gz flwefdene
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[Turn over



164. “Manaththodu vaiymai mozhiyin thavaththodu

Thaananj Seiyvaarin Thalai”.

Statement 1 : Those who speak the TRUTH are always more

superior than those who practice charity or

penance.

- Statement 2 : Those who practice charity and penance are far

better than who speak the TRUTH.

\,(A)/ Statement 1 — Correct

(B)
©
(D)
(E)

Statement 2 — Correct
Statement 1 and 2 — Correct
Statement 1 and 2 — Incorrect

Answer not known

“wars@sm® eumiew Aurfulear saus0smE

- grangsQeus aunflel sava”.

ah;bgj 1 ; G]J.I'.I‘U'_IGB)LD Cuauaiitser gremb, geulb GFuueTsameT 6l
SppFeuTser. '

gapm 2 .. 3 cumiienoGus Guaﬂmrrgm sranbd, seud QeuiueuCy Apbseur.

A mppl-sh

B) epy 2 — &M

©) =pp1,2-50

D) spp 1,2 - saup

(E)

ellen Qafweildene
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165. Match the following type :
(é.) Iyotheethass Pandithar
(b) Ramalinga Adigal
(c) Jotiba Phule
(d) Syed Ahmed Khan

@ ® © @
A 1 2 3
M 4 3 2
C) 4 3 1
D) 1 2 4
(E) Answer not known

W N =

Aunsgs.

(@) @Cursdsrsrs Ly s
(b) @urwelns g ser ‘
() Cgrdur yGe

(d) MEWG| SIHLOF| S6

@ ® @© @

A 1 2 3 !
(B) 4 3 2 1
C) 4 3 1 2
D) 1 2 4 3

(E) & Qsfweflcrana

g 0 o

B~ W M

Tahdhip-ul-Akhluq
Gulamgiri
Thiruvarutpa

Oru Paisa Tamilan

ﬁ&ﬁu-@@?aé@&
@amndll
@aumrun

R eoustsg sdlper

CCSEIVGT/2025
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166. Assertion [A] : K.M. Balasubramanian, author of South Indian

Celebrities compared Dr. C. Natesa Mudaliyar to
Mahathma Gandhi.

Reason [R] : He was the epitome of love, character, tolerance,

, Party.
(A) [A]is true but [R] is false
\;Bf Both [A] and [R] are true and [R] is the correct explanatmn
of [A] |
(C) [A]is false [R] is true |
- (D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
 ampm [A] QgenaflpAu yuenser (South Indian Celebrities)
| - aap  predler  pAfwir KM,  uresu@goefluer,
LmsLir. &, pCLes sdlwureny warSwor . SrhluLer
UL ®H ergpdlermi. - _ _
sryenrd> [R] BHss e  @swnss Hepps BCLE  psewmi
S@YS@D, UMTLE@GD, CQUIDULMWEGD, FOTE
LATLILITETL&@ED THSSSST L s edleThidemm.
A) spm [A] &l gyamed smerd [R] seupy - |
B) smpm [Al, smyewmd [R] @l]ﬁﬁﬁ@fb sfl Gugub smreerd [R] spm
[A] e eflwrer eflatéad <y@Lb. |
(©C) ampy [A] seum sryewmd [R] &
D) @mpy [A] smyewn. [R] @ran@on &fl, <emed smemd [R] sapm
[A] mmlsﬁlﬁésessﬁ]mmm ererLig) &l
(E)

compromise and he was the heart of Justice

lev Asflwellcvana
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 167. Which of the following statements are true about Ramalinga Adigal?

(1) He said that apart from musical Instruments the mind should

unite.
(1) He started night schools for farmers.

(iii) He said that through human charlty one should get full

beneﬁt in life and be one with God.
(A) @) only V@8BS () and (i) only
(C) (i) and (ii) only (D) | (ii) ar_ld (iii) only
(E) Aﬁsweg not known
@rroadlis SgserTerl UPHIL eThss SMmES sNurens ?
(1) Pwss smelsar ,mﬁlr'rg,gj Lnarr-Lh el GouarHid IGrGBT,mrrr'r. '
(1) éﬂmanuﬁlas@mﬁas @rey Cprs LdTellenwig G]grrll_léjélmrrr'r., *

(i) wvefllss Qgrrsu'm_rr,lj),r_r)sb e eampelldr wwl uwweers Qubm

QeopCGur® gemn Causm@ib srehgjrrr‘r.
A) (@) wrEn (B) (@) wpgid (i) we G
O O wppio (ii) DL ED (D) (1) whpib (111) wrEd

(E) oflan_ Qe_r,rﬂu.iaﬂdmmw

{3 AR B CCSEIVGT/2025
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168. Assertion [A] : In 1930 Muthulakshmi Ammaiyar introduced in

- the Madras Legislative Council a Bill on the
prevention of the dedication of woman of Hindu
temples in the ‘Presidency of Madras’.

Reason [R] : The Bill which later became the Devadasi
Abolition Act, declared the “Pottukattu
Ceremony” Illegal. |

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true

' v(@f Both [A] and [R] are true and [R] is the correct explanation
of [A] |

(D) Both [A] ﬁnd [R] are true but [R] is not the correct explanation
of [A] g

(E) Answer not known
apm [A] 1 1930-& Gsarenar gL nanpddle @5§meﬂ S|LbenLowimit
- Qseenear wrarawsder @b CasreldosErsEl Quanser
‘emuafissiufaums sOLLE” @b  wGsTsTMe
SiPepasiiuGsHerri. '
- empewrd [R] @ Qenent Csaugrdl @ufitiyé slLwons wrflu @uwwGserg
“QuILPé  sLED  FLRE BLESS) F LSS DL
Upbureng) ear sidlellsss. |

(A) [A] st gyerme [R] s
B) [A] saum <parmed [R]

- (C) [A] wpgid [R] &M Gwgud [R], [A] Wer sflwurear eferdsid
(D) [A] womid [R] &M yemmed [R], [A] Wer eflwurer eflarésinda
(E) aflerL Qsfweldame |
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169. Assertion [A] : Under the leadership of Rajaji, Congress decided

to boycott Simon Commission in Chennai.

Reason [R] :  The Simon Commission had only Whitemen as

members that is no Indians.
(A)' [A] is true, [R] is false
(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A] |
@)~ [Al is false, [R] is true
(D) Both [A] and [R] are true, and [R] is not the correct

explanation of [A]
.- (E) Answer not .known

sapm [A] ;.  Qeerearde @y smeoamwuld s LDssALILL
' CumymLens BL&5 (piga] Qeiwtiug L g).

smyed [R]  :  evswar @,@Qﬁ]d) o pifert Seearaumd  QeudtanemwGr,

Sigreugl Gpeller QpSHuCy @shm_éu..

(A) [A] &, [R] seugy

B) [A] wpgnd [R] @raw@op #f, Cuoaib [R], [A] -ér &ﬂ@nm eleTé s

' BGSD

© [Al poug, [R] &

D) [A] wppw [R] @rem@w &fl, Gogib [R], [A] -ér sflwurer earésiode

(E) e Qgfweldensw

1O - - 99 ' CCSEIVGT/2025
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170. Match the Works/Books with the author’s :

(a) Vetriverkai Avaiyar

(b) Nanneri

Kumara Kurubarar
(c) 'Neethinerivilakam Athiveerarama Pandiyar

(d) Nalvazhi

. W koM

Duraimangalam Sivaprakasar

@ ® ©© @

A4 1 3 4 2
B 1 4 2 3
e 3 4 2 1
@ 3 4 1 2

(E) Answer not known -

Spsar mrosamer 8MwirsGearm® G\urr@e_‘r,g,mm.

(a) QeupdCeupens 1. gee@euwni

(b) perQe 2. GLIGwUYT

© BHGEH edamss> 3. wedeSyymo Lr@mgwi
(d) peveud _ 4. g\jm,ﬁ)wrﬂa;mm SeutiQysnar

@ ® @© @

A 1 3 - 2
B 1 4 2 3
© 3 4 2 1
) 3 4 1 2

(E) . elen QgMweilicrena
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171. Match correctly the Excavated places with their

Districts.

(a) Azhagankulam 1. Sivagangai

(b) Vasavasamudram 2. Erode

(c) Kodumanal 3. Kanchipuram
(d) Keezhadi 4. Ramanathapuram

@ ® © @

A 1 4 3 2
B 4 2 3 I:
© 3 1 2 4
@4 3 2 1

(E) Answer not known

corresponding

Yereu(HeuareubmieT  SySPeUTTTLIES BenL-QubHm 6T (T & 6N 6T I.éia'_lg.bﬁ'

S@whgleTer wrall L FgiLer QUmpsHE s (Hs.

(a) <iypserE@erid ' 1. Heusrians
(b) eusauspsSird 2. FGrm(H)
(c) Qaafr@ LOGRTED 3. STEHELTLD

(d) &g ' 4, @rroBISLTD

@ G0 © @

A 1 4 3 2
B 4 2 3 1
© 3 .1 2 4
® 4 3 2 1

(B) e&evr Qzfweldene

{} 101
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172. Match the diseases in Column I with the site of infectious in

Column II :
Column I
(a) Dengue 1.
(b) Polio myelitis 2.
(c) Measels __ 3.
(d) Chicken Pox 4,
@ ® ©© @
wd 2 1 4 3
B 2 1 3 4
© 2 4 3 1
D) 1 3 2 4

(E) Answer not known

Column 11

Intestine, Brain
Skin and Blood
Respiratory tract and Nervous system

Skin and Respiratory tract

Spssrgnip CGprusesd (Column I) wigamd gpu@b urdiysemeryd

(Column II) Qur@msgs :
Column I

(a) Qum

(b) @mmlﬂldra)m QUTSLD
(¢) s iibeo

(d) Aenarbenio

- @ b (©

A 2 1
B 2 1
©C 2 4

D 1 3
(E) &lenr QsMwelicrenew

N O R

CCSEIVGT/2025

B o= s W

Ll A

(d)

Column II

&L-60, pLpenarr

Cgred, Grssd

SGQUMFILIMTGNS, BLDL| LOGKRTL VLD

Cgmed, seursliLTms
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-173. Assertion [A] : Cobalt-60 is useful in Cancer therapy.

Reason '[R] : Cob_alt-60 is source of y - radiations capable of
' killing cancerous cells.

w/ Both [A] and [R] are correct and the [R]. is a correct
explanation of the [A]

(B) Both [A] and [R] are correct but the [R] is not a correct
explanation of the [A] -

(C) [A] is correct but [R] is incorrect
(D) Both [A] and [R] are incorrect
(E) Answer not known

sapm [A] 1 Gamumel ~60 yhpCrmi Hdémauddr LweTuHEDS.

smpambd [R] @ Gamumer 60 smor-sfisefler  epowrs  QFudur ()
UbDICrmil Qedrsamer &S auaF.

(A)  [A] wpgid [R] ef Guogubd [R] ererug [A] ssrar sflwrer ofleréaid

B) [A] wpgw [R] sf <yeame [R] eremug [A] ssrar sfwrer eerésid
@eane ' :

(C) [A] sfl gpammer [R] seum
D) [A] wpmid [R] @ranGid seug
(E) &enl Qsfwelerena

174. In Tamil Nadu, Vidiyal Payanam Scheme introduced in the

month of _
V&~ May, 2021 (B) December, 2021
(C) March, 2022 (D) October, 2021

(E) Answer not known
BODBT g, afliqwed Lwerd S eriCung SHPsLILESSILLLg?

(A) Guw, 2021 (B) gewpur, 2021
(C) wmir&, 2022 (D) @sCLmuir, 2021
(E) el QsMwefdene

03 _ : 103 CCSEIVGT/2025
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175. Assertioh [A] : Climate, Relief, Soil and Natural resources are

influencing the distribution of population.
Re_'ason [R] a Birth and death rate does not affect the
distribution of population. '
A [Al is true, but [R] is false |
(B) [A]is false, but [R] is true

(C) Both [A] and [R] are true, and [R] is the correct explﬁnation
~of [A]

| (D) Both [A] and [R] are true, but [R] is not the correct explanatibn
of [A] . _ | o

(E). Answer not known

B ampm [A] - 1 sroflow, -‘r_f,]a)g(‘g’,srrﬁ),mm, & WHDID QUHEs eueTEISET
= ' Cumrepenau IDESET _ Qsrersis LITaIaaEH
sLHUubSsSlarner. '
smpeord [R] 1 Gpuy, @puy - ddsmsedr wésdr Qsmensts Urauema
' ' unglésellcrene.

(&) [A] ofl, e [R] paup
= | (B) [A] seum, <pammed [R] & |
' (C) [A] wpmw [R] @rer®wb &, whmd [R] erarug [A] ssrer sflwmen
' efleTésbd i : '
(D) [A] wpgw [R] @ranpw &, %GﬂTI‘I’dS [R] ererugs [A] Wer sfwmer
| cleréasd @eama

(E) . e QgRueldame |
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176. Match the following :

(@)
(b)
(c)

d)

o 1 4 3 2
® 3 -4 1 2
©€) 4 2 3 1
™ 2 3 4 1
(E)

Shifting cultivation

Ladarig
Milpa.
Roca
Ray

@ G0 © @

Answer not known

- £@5®memm Qummsgs :

- @LuQuuirey Cauetrarenio:

(a)
(b)
(©

(d)

(A)
(B)
©
(D)
(E)

QLM
Webum
Crrésm

Gy

@ ® @@ @

1 4 3 2
3 4 1 2
4 2 3 1
2 3 4 1

e G]glﬂu_lsﬁ]@wa)

A

Region
Malaysia
Vietnam
Brazil

Mexico

ugd
wGedwir
el Bmib

GCréled

A D

Qu&eliCam
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"177. Match the following :

Author : Work
(a) Amoghavarsha 1 Mahapurana
(b) Jinasena 2. Kavirajamarga
(c) Guhabhadra "8, Kadambari |
| (d) Bana | 4. Adipurana
@ ® © @
A 2 4 3 1
B 2 4 1 3
© 2 3 4 1
D) 2 3 1 4
(E) Answer not known
Spsaar_ahennls QUIHSSS.
% Sflwi e
(@) <Curseaiag 1. wsmyyrewd
(b)  BarCGeanit 2 aaaﬁigrramm'ra'sasm
(c) G@rugyT 3.  sngbuf
(d) unewri 4. Hyrrewrid

@ ® © @
A 2 4 3
B) 2 4 1
© 2 3 4
@ 2 3 1
(E) e Qzfweldene

o = D
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178. Which of the following statements are true about Velu Nachiyar?

(1) Velu Nachiyar was the daughter of Chellamuthu Sethupathl
ng of Slvagangal

(i) Velu Nachiyar’s husband was assassinated by the Nawab
Army and to attack the Nawab and British. She joined with
- Gopal Naicker and Hyder Ali.

(iii) In 1790, she died due to illness.
A (i) only ~ (B) (i) and (i)
(© G@andGi) (D) (ii) and (iii)
(E) Anéwer not known
Epssan smppisaod Cagprdunt updl ag)/ama sRLTaTee ?

(1) Cagprédwurt Houstims aqaurrsm Qeoowss Cogudular wser
QLeUTT. |

(1) Gmgﬂmné&]mmﬂé‘w P— poumder LeLseTTed QSrrdJaJl‘Juu_g,rrdJ
QB BHCoWamrsH HrE@ED G‘r_r;rrasagsgjl_sw Camumed BrLSST, mansiT 26
- ECurmLer s Lanll Siemwgsmi.

(ii1) Gm@pn&v&]um‘r Glr_r,rrlu_Lr_f)gu 1790 -@é @‘m‘r_'r;gsrrr'r..

@A) (i) v | ®B) () m'ﬂ-@m (i)
© @ wpps (i) D) (i) wppio (i)
(E) ofer Qsfwelcrana
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179. Which of the following points were accepted in Gandhi-Irwin Pact?

| (i) People allowed to make salt for their consumption.
(i) Not releasing the political prisoners who had not indulged in |
violence. I
(ili) Permitted picketing of foreign cloth shops.
(iv) Reduced the death sentence of Bhagat Singh and his Comrades.
(A) (1) and (i) only
B () and (i) only
(C) (i) and (iii) only
(D) (i) and (iv) only
. (E) Answer not known
Epser_aupdle smhs-@irelldr @ULBSsHG THnSOsTETETILL L |bsmkseT
a2
O  eveu sw LWL EEE 2 pusH Geliu SigiLSLiL.
() asmpepEs rHuip sulud wslemw en by - Axpls
MeULILIG).
(1) epHwus @mﬂm)m h@b seLselen wpar < fUILM L AS®ET bLSS
SIS, | |
(iv) ussfi  LPmD Sars  CempTEEEE  HSSILLL e
g;G&ITL_Gb'JIGDTGEJu_Léi &L '
@ O oppo () weeo
B) ) wppo Gii) v Go
©) (@) wpgio (iii) I G
D) (i) wpmid (iv) LLEW
(E) ofen Gzflueicrena
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180. Consider the following statements and identify the correct answer :

(1) In 1918, Madurai Harvi Mill labours strike happened.
(2) B.B. Wadhiya was the labour union leader of Madurai Harvi
Mill. |
(3) Dr. P. Varadharajulu’s speech was an eye opener to the
government. |
" (4) Dr. P. Varadharajulu was the Author of “Prabanja Mitran”
Magazine.
(4) (1) only (B) (2) only
(07 (1), (3 and (4) only @) (1), (@ and B only
(E) Answer not known

Gereu(peuaTeupnIeT ereneu sfluimarenau ?

(1)

@

@

(4)

(A)

©
(E)

wgierde apriel Wé Ggmfererisdr 1918-gd Gaume Hnisssded

e C\[W =)
giey apmiell W Qsmihenss semeeurms 1.19. surnq_u_lrr'@@‘rf,grrfr.

LrsLr. 9. aupgpree  euisallar  Qmflerart  sre  Gués
SrFThsSS e sansmears Hnsad smyearomuiHm.

Lrsif. 9. aupggrag  “Grugss  Bgdyar  aemp LS Msmamu
BLgSlermir. -

(1) wL_Eb ' B) (2) wr @b

(1), (8) o> (4) @i D) (), @) wopi> (3) e Eid
edlenL_ G'Ig,r‘ﬂu_leﬁ]sbma) '
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181. False statements about Subhas Chandra Bose are:

()

(i1)

(iii)

(A)
(B)

Subhas' Chandra Bose was born on 23 January 1897,
in Calcutta, West Bengal.

The Government of India has declared his birthday,
231 January as “Parakram Diwas”.

To honour of Subhas Chandra Bose’s legacy, 234 January is a
National holiday. '

(ii1) only
(1) and (i1) only
(ii) and (iii) only

@7 () and (iii) only

(E)

Answer not known

- &uney spdly Curenevts LHP Dereumd smpmsefe sauprearg :

@)

Gi)'

(111)

(A)

(B)

©
D)

(E)

surey by Cumev gareufl 23, 1897 ey Gm@@'mréja;rrm'\s‘é,]ain
s0gSFTel ADBHSTIT.

@‘r_r;ﬁu_l ATE Deurg UGS .pﬁmnm garaufl 23 b Csew
“@sfu prdr” ey <ifledss drars;.

surey  spdy - Gumedler  umbLALS®s  GuUEHDL s
garaufl 23 gib Cad CasAlw N weD BHreTmELb.

(iif) w1 @b

() wppid (i) we Go

(i) whmb (1ii) wr Ew

() wppio (i) 0o

aflen_ Gz flweildena
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182. Match the Presidents listed below with the distinguished guests
who attended the Republic Day celebrations held under their
leadership.

Presidents | Distinguished Guests

(a) Droupadi Murmu 1
(b) A.P.J. Abdul Kalam 2
(0 PranabMukherjee 3. Vladimir Putin
(d) Ram Nath Kovind 4. Barack Obama

Cyril Ramaphosa

Prabowo Subianto

@ b © @
@A 1 4 3
By 2 3 4
© 3 4 1
@ 4 2 3

(E) Answer not known

= N = DN

Gywrs et allpreih@ smaamd dlsss @4 Lrss gmwmmguﬁ <3G (T L_60T
Apuiy mpdamnss sobg QararL el@mbdarenub QuTmESEs s [Hs.

G WLITES SMO6TEHET ' Awiiy eSl(mbderiser
(a) HAgerud apirap 1. Afe groGursr
(b)) .9.Cg. wig@sTD 2. @rGumeur &lﬁlu_lrrsﬁurcl_n
() Qgewrmiy apaited 3. dfermglii Lgeir
4

(d) gmb prs Camelbs UiFTé @umLDm

@ G @© (@

A 1. 4 3 2
B) 2 3 4 L]
<) 3 4 1 2
D) 4 2 3 1
(E) o&flenr Qsflwelerene |
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183. Directorate of Vigilance and Anti-corruption Tamil Nadu Toll free

No. is :

(1j 1062 and 1963

(2) 1064 and 1965

(3) 1066 and 1967

(4) 1068 and 1969

@ @ B @

© ®) G

(E) Answer not known |

sUIPETE 2arpsd SO LHHID mmmﬂ_uué @m @mé@wwﬁﬁw Qo
DIGMLPLILY| GTEHT '

(1) 1062 whps 1963

(2) I_ 1664 whpb 1965

(3) 1066 wppi> 1967

(4_)' 1068 wppi 1969

@®w @ ® @

© ® Do

(E) &fer QzRweldena
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184. Find out the correct statements on election

@)
()

(i)
A)

- (B)
ey
(D)
(E)

In all the states elections EVMS were used in 2003.

The commission took a historic decision to use only EVMS for
the Lok Sabha election in 2004.

TWO million EVMS were used in this elections.

(1) only
(1) and (iii) only

(i) and (ii) only

(i1) and (iii) only

Answer not known

Cairger upHlw eflurer smpmismerds sar_ls.

@)
(i)
(i)
(8)
(B)
©
(D)
(E)

2003& eovewr wrhle Gsigdled arssl  udey @u.n;_‘r,ﬁm.b-
uus‘aTl_-i@g,g,uul'_l_@. g ’

wésawap  Goisd 2004d amsel  ufe; @uBHTd  WLED

LWETURSSILGHLD ereipbd euFerdm (Plymel 6 (HEE eTeTs) <2EDETLILD.

@rem®  Boduar arsey  ufe; @updid @bss Csisee

uMGﬁTu®§§DuCng.

(i) w @b

(1) wpmid (iil) wrEw
@) wogd (1) wCED |
(ii) wpmiw (i) wr o
el Qsflweddame
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185. Choose the right matches :
Committees = Chairman

(1) Committee on Panchayat -
Raj Election ; — K. Shanthanam

(2) Committee on Rationalisation
of Panchayat statistics —  G. Ramachandran

(3) Committee on Panchayat Raj

Training centres — V.K. Rao
(4) Study team on Panchayat Raj

Administration — V. Iswaran
(A) . (1) and (3) are correct \B) (1) and (4) are correct
(C) (2)and (3)arecorrect (D) (3) and (4) are correct

(E) Answer not known

silwrareumHCor® QurmSSs :

S(péaen . - @@auf
(1) ugsmuss Ty Csisd G - K spgrand
(2) uEpETLSE TTHR LEGLUTLGY
" hmid yereflwe @ —  G. groéepdren
B uepETwss Try LA G - —  V.K gréu
(4) ugsenugs TR Hiurss @& = V. meveurer
@) () opyid (3) wiEo of B) (1) wppi> (4) G o
© @ uopps () wignel (D) (3) wppd (4) 0L of

(E) e Qsfwefdene
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186. The correct statements on the Directive principles of state policy are

@)
(ii)

I(iii)
A)
By
©)
(D)

(E)

The Directive principles of the state policy are provided in
Article 36 to 51 of the constitution.

The framers of the constitution borrowed this idea from the

‘Spanish constitution.

The Directive principles form the soul of thé constitution.
(1) only

(1) and (iii) only

(1) and (i) only

(i) and (iii) only

Answer not known

2r& aflsm G Apdlopapsdr Bsrar sfwurer éh‘r_i)g)rrsurgj.

@)
(i)

(i)
A)
B)
©
D)
(E)

<75 euflsT Gib Qpdlpamsd 2 miiy 36 wpse 51 eer Sigsmwrdd
Qar@&siul (Hererg). '

SifFmwlmL 2 (haursdueisdr Qps Apsmarew  cvurefles

SirFenwLbL b Qubperir.

<78 auflsm_Hib Qmﬂ@mpam GTETLIg| DATEDLIIET ETLOTGUT(SLD.
(i) wL_[HiLb

() wpgid (iii) wr @ -

(1) wpgb (1i) wLEW

(i1) wpmud (iii) wL b

eflenL_ @gsﬂu_leﬁls’omsu.

116 '~ CCSEIVGT/2025
[Turn over



187. Assertion [A] : Indian constitution is federal in nature.

Reason [R]  : Indian constitution provides dual citizenship like

- United States of America.
(A) [A]is false [R] is true

(B_) Both [A] and [R] are true; and [R] is the correct explanatioq;
of [A]

@ [Al s true [R] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E) Answer not known
sapm [A] D @bSlw SFflweenoliL] . 2 GTeTL &L Fal_Lm_&
SITSl@EnbLIL] G Lb. |

smgewrd [R] @ @pdu <irfweeniy psdu Gwfss presd (USA)
- Gumé @rieLs Gy fleweamu euphidujererg).

A)  ampp [A] saup sryemd [R] &l

B) spm  [A] wovpod  smgerd  [R] - sflurerewen @b, wpmibd

5rrlj6erb_[R] sapm [A] serer sflwuner efearsswnELd
©) sapp [A] o smrams [R] seup

D) empm [A] g smerd [R] sfluraemes <@, pamed sryewrd
[R] sapmy [A] & sflwns derssaicorena

(E) &fer Qsfweldena
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188. Assertion [A] : Indian constitution has the qualities of both

rigid and flexible.

Reason [R] : The constitution was amended more than

100 times without changing the foundations of

the constitution.

(A) [A] is true but [R] is false
\LB‘I/ Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A]is false, but [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
- of [A] is correct
(E) Answer not known
gapm [A] D @bdw cg{gémmuQ CAp&lpd wHmD CBHYTs serewvsamar
Qarair(Hererg.
smpamd [R] @ @pdu wirsewu@er wiqriumamw Lnrr;r_bg)rrméu Bsicueny
100 &@w Guhul L wrppriser Qsram@eurliuL_(eTearer.
(A)  swmpm [A] efl gemed smyemd [R] seuml
B) wmpm [A] smern [R] @uam@id &I‘ﬂu_ll'l'thTGDG}.l&jGIT cgb@m LHmILD
smyenrd [R] sapmi [A] ssmar sflunar eflarésiomnsb
(C)  @mpm [A] seum pame a;rn;ra‘an.b [R] &M
D) @pm [A] smernd [R] @ran@o  sfurareeuser DGD, @
smyeard [R] sapp [A] ssrar sflwiner eflarésid @dame ererLigy &l
(E) el QzflwefNcrena
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189. The reading in a field book are as given below

To C
(in meters)
| 150
20 to D — 120
80 +— 50to B
30toE — 50
From A
The area of the field is

& 6550 m?
(B) 17550 m?
(C) 5750 m?
(D) 5650 m?

(E) Answer not known

o seeme Lssssdd Hawrerg Geraumom LHLILEE GHlssuur G erarear

C auany
()
150
20toD — 120
_ 80 +—50toB
30toE —{ 50 |
A O\ mpsl
- Pegder urliuetey erarugl
(A) 6550 152
(B) 17550 152
(C) 5750 82
(D) 5650 52

(E) e&fleor Qgflweildene
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190. A person distributes his pens among four friends A, B, C and D in

191.

the ratio %%% % then the minimum number of pens that the.
person should have is
@A) 23 | - (B) 55

N o - (D) 65

(E) Answer not known

ROEUT SETEIMLII BIETE BHeRTUTSET A, B, C oppd D cQi,eﬂu_usurrex;@_rJ SaNG)

Cuermésenar é—i % % < du lfgrisailer NHCUTdsHDTT crafler wjeur

mmgﬁ@éa; Ceuatrigw Cuermdaaf e SOOI F creiranflEans
@ 23 | B) 55 -

© 57 (D) 65

(B) e, Aufinidicmes |

If the ratios formed using the numbers 2, 5, x, 20 are in the same
order of proportion, then the value of x is

(A) 50 (B) 10

ey~ 8 | (D) 4

(E) Answer not known

2, 5, x, 20 gfuw GT@TEamaT 2G5 afemsule LwerL RS Siewib
cfldlgmser afldls swwons @muder, % 6@ vy

(A) 50 | (B) 10

() 8 | (D) 4

(E) efer Gsfuelcena
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192. If the HCF of 108 and 234 is expressible of the form 23x —51 then
what is the value of x ? |

S 3 ®) 2
© 4 D) 5
(E) Answer not known '

108 whmn 234 yHwuepar BLuQuEmp Qurg ai@sHow 23x —51, eedm
aug el erpdemmed X-er i wng)? ' ’
@A 3 | - ®B) 2

(©) 4 - D) 5
(E) ofer Qzflueioea

193. Find the HCF of the polynomials x®+x*-x+2 and

2%% —5x% +5x 3.

Vé x%—x+1 | (B) 3&;2_+x—1
© -Tx%+Tx-17 D) Tx%-Tx+7

(E) Answer not known

x®+x2 —x+2 wppd 2x° —5x2 +5x -3 du uogpLLs Carmasafidr '.
B.Qum.sr. srers. '

A) x2-x+1 o B) x>+x-1
©) -Tx%+Tx-T (D) Tx-Tx+T
(E) eﬁlwgagrﬂwaﬁlwmm
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194.

195.

Simplify : (471 +472+473)0x (@1 +472 + 473!,

63 ) 19 :
= B) -2
19 ®) 63

- 21 - - 64
wer o @ -
64 21

(E) Answer not known

(A)

sme@s: (47 +42+473)0x(@ 1 +4 24478,

63 - 19
@ 3 -
21 | 64
© & o

(E) &l Qsfweldrena

The average mark of 25 students was found to be 78.4. Later on, it
was found that score of 96 was misread as 69. Find the correct mean
of the marks. '

A) 77.32 . | \AB) 79.48
(C) 178.42 . (D) 78.24
(E) Answer not known L

25 wremeuirsefenr syma Lbﬁﬂ@t_lahr 78.4. @m@ 96 erep wHOULTETE
69 erang SUNISONE THESILIL L g s@rLMuiurLg  erefle,
wduQueans@rssrar sflwrar syreflews sreamns. :

(A) 77.32 (B) 79.48
(C) 78.42 ' (D) 78.24
(E) e Qsfweiideae
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196. D, F, G, H, I and M are sitting in a row. I and M are in the centre, -
and F and D are at the beginning and at the end. G is sitting on the
left of D. Then who is sitting on the right of F? '

¢&f}{ | B) 1
(C) - DG
(E) Answer not known
D, F, G, H; T vpmip M fCuni euflevswins Sjwipgerarert. I wpmid M
- ACwunrt ewpwsHad, F oppd D bCurt wsdaib, @moifurseb
siwipgidrerarn. G earwer  D-wldér  @LgiynsHed  Siwipgiererir.
Sitiugwremd F-ar aiogiypsded <iwipbdmring wmi?
(A H B) 1

© M ' D G
(E) ofenL Gg,lﬂmaﬁlmmm

197. If A=26, SUN = 27, then CAT =?

A) 24 B) 27
57 (D) 58

(E) Ansvger not known :

A =26, SUN = 27, aafl®o CAT =2

(A 24 S B) 27

©) 57 (D) 58

(E) efler Qpflweilcrena

198. If a #b # ¢ is given, which one of the following is correct?

(A b#a#c
(B) a,b,c are distinct
(C) a=b=c '

a#cora=c
(E) Answer not known

a#b#c erans Qarésiiu’ g hpsTD et hauaauppiedr erg) &l 2

(A) bza=zc .
(B) a,b, c gpfuee QauciCGauprarenal
C) a=b=c

D) a#c sewg a=c
(E) e QsRwelcrane
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199. The mi'ssing term in the given alpha-numeric series is

200.

2X2,7T4,14P 12, 23 L 48, .
(A) 34 H 240 | (B) 34 H 144
(C) 30H 100 (D) 30H 120
(E) Answer not known

&Cy Csr@ssuL Rdrar aram arss Osmfer eAGuLL 2 miLiy
2X2,7T4,14P 12,23 L 48, ) |
&Y 34 H 240 - (B) 34 H 144
(C) 30H 100 (D) 30H 120
(E) ofer Gzfueldama

Two unbiased dice are rolled once. Find the probability of getting
the product of face value is 4 or the difference of the face value is 5.

1 , 5
(A) T | v@Br'gg
) | _ - i |
©) 9 | (D) §§

(E) Answer not known

Qranh epwrer use@LsET 2 BLLUUGD Qurws swdiiyseier
Qupsasd uwer 4 sweg s wAuyseler esHursd 5 o5 B (ms&s
Bapsse? : : - -

o | ' 5

) B) o
| ' T

© 3 | ) 2

(E) oflenL Ggrﬂu_leﬁkba)m _
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